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'b f33(Z) 0
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=IMPRODUCT(IMPRODUCT(A6,0.5),COMPLEX(COS($A$5),SIN($A$5)) :
)

=IMSUM(IMPRODUCT(IMSUM(IMPRODUCT(A6,0.5),COMPLEX(0,0.5)),
COMPLEX(COS($A$5),SIN($A$5))), COMPLEX(0.5,0))

=IMPRODUCT(IMSUM(IMPRODUCT(A6,0.5), COMPLEX(0,0.5)),COMPL
EX(COS($A$5),SIN($A$5)))

Excel {£Z&%A BN M ERKR
A+B IMSUM(A B)
A—B IMSUB(AB)
A X B IMPRODUCT(A,B)

a+bilZ. COMPLEX(ab)THEH 3
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—-0.49760197655441%
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6=2*PI()*A1/32000

M= EIMNYT

1
f1(z) = EZ(COS@ + isinf)

=IMPRODUCT(IMPRODUCT(A6,0.5),COMPLEX(COS($A$5),SIN($A$5
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Option Explicit :ﬂ* E’;F"' gy‘%? %‘*‘é’i%@ o *‘fi
Public Run As Boolean g:" 0%;%" %’%‘f %gi
Sub 7R #>/1_Click() v N A
Dim x As Integer
Run = True
Do While (Run = True) -0 - 100 00 /) 1000
x = Cells(1, 1)
x =X+ Cells(2, 1)
If x >32000 Then
x=1
End If
Cells(1, 1) =x
DoEvents

ActiveSheet.ChartObjects(1).Activate ' 7 5770747129 %

Application.Wait (Now + TimeValue("0:00:01")) ' 1# {59 5
Loop
End Sub
Sub 7R2>2,2_Click()
Run = False
End Sub




